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0 0000 Inthe first place the reason Keynesian orthodoxy came
Into so much favour was because of a widespread misinterpretation
of the Great Depression. And it was widely interpreted as showing
that monetary policy couldnt work. It was interpreted that way
because of course all of the central bankers kept saying that they were
engaged in very easy money and that the economy was declining in
spite of them, their actions, and not because of their actions. [ [J [
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[J O 0O Butwe found that the situation was very different. Though in
our opinion the Great Depression was not a sign of the failure of
monetary policy as it was so interpreted, it was not a result of a failure
of the market system as was widely interpreted, it was rather a
conseguence of a very serious government failure, a failure in the
monetary authorities to do what theyd initially been set up to do. [
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House of Commons U U OO OO OO O OO O The effect was
primarily, I would say, after World War Two. The effect was to
encourage politicians to do what politicians love to do - spend
moneyandnotraisetaxes. 1 0 0 OO0 0000000 OO0OO0O
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DJO000000000000000 The Keynesian theory, not
as Keynes himself necessarily presented it, but as it was interpreted
both in the intellectual community and in the media and the press,



said that if you have high unemployment, the way to solve that is to
cut taxes and increase government spending - at least create a
governmentdeficit. 1 O U000 OO0 O00OO00OO0OONMO
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government could have created the deficit entirely by cutting taxes
and not increasing spending, but if youre sitting in the House of
Commons in London or in Australia, or in the United States,
obviously the thing youd like to do is to increase spending. [ [1 [
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DO00000000000 Andso the major effect of the
Keynesian orthodoxy in the post-war period was to encourage an
expansion in government spending as a fraction of income, and to
contribute to the inflation of the 1970s. D D O O OO O O 0O O O
J0o0dooooooodoooooooooooooa
Jo0odobooooooooooooooooooooo
J0odoodooooooooooooooooooo
JO000o00o0oo0oodooooooooooooon
JO0o0d0oo0ooooooooobo0oooooooobooo
DO000000000000000 1Keynesian orthodoxy [
OO00000 2monetarypolicy0 0000000000000
JO00000000000 3easymoney DO OO OOOO
4 misinterpretation I [0 5 Federal Reserve system [0 [ O L O O 6
theeffect 0 O O O O 7intellectual community D D O OO OO 8



cut tax 0 O 9 government deficit O UJ [0 I 10 the House of
CommonsU O OO OUOOUOOUOO0OUOOOOoOUOooooon
J000o00o0o00ooooooooooooooon

OO0 100TestU U DO DODOOOO0ODOOOOODODOOONO
L O O www.100test.com



